BUEIS i AR
NEBET

ESKSBERBHHF

GIEPES

WX 5 v 7ig 350mmA Ay K W5y 7E410mmA Ay Kt
BmmI—F | H(EZ) H(EE) | Fu—FUA-BRfHIE(L/R) B R mma—F | H(EZ) H(EE) | Fu—FUA-BfHIB(L/R) B K
701000 | 3600mm | A 350mm | L (BEEICAA,>TE) | 368 ALH 701020 | 3600mm | B 410mm | L (REEICE#,->TE) | 365 BLH
701001 | 3600mm | A 350mm | R(FBEICAA»>TH) | 368 ARH 701021 | 3600mm | B 410mm | R (REEICH#,»>TH) | 365 BRH
701002 | 3500mm | A 350mm | L (FEEICAAN>TE) | 358 ALH 701022 | 3500mm | B 410mm | L (REEICA»>TE) | 355 BLH
701003 | 3500mm | A 350mm | R(FBEICAA>TH) | 358 ARH 701023 | 3500mm | B 410mm | R (REEICE#,>TH) | 355 BRH
701004 | 3200mm | A 350mm | L (BEEICAA>TE) | 328 ALH 701024 | 3200mm | B 410mm | L (REEICE,>TE) | 325 BLH
701005 | 3200mm | A 350mm | R(FEEICAN>TH) | 328 ARH 701025 | 3200mm | B 410mm | R (FEEICA»>TH) | 325 BRH
701006 | 2830mm | A 350mm | L (BEEICAA,>TE) | 288 ALH 701026 | 2830mm | B 410mm | L (REEICE#,>TE) | 285 BLH
701007 | 2830mm | A 350mm | R(FBEICAA»>TH) | 288 ARH 701027 | 2830mm | B 410mm | R(REEICH#,>TH) | 285 BRH

[B& X b
fEmad— K moR &

701040 | SKSEERBERTAANYF

701050 | SKSBERBEETAH RFL—J L3000

701060 | SKSEERBHHETA REL—IEEW(FHEA) M8X25 2&ft
701070 | SKSERERBERTA REL—I R (IFEA) M8X25 2%Ff
701080 | RFEL —IV&ifERIL FB-BEMERA M10X90(N1SwiFw2) BV £ ff
701090 | REEL—AY v a>dn

701100 | RFEL —IL&IRHRIL FA-L—IVERER M10X80(N1Swi1Fw2) Y E 1
701110 | SKSEERBEHTH REL—ILEREY M6X20 4Fff
701120 | SKSEBERBEIRTH 7L —XBIRFHEBIL /N —

I-1-1



